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Verb

Explanations

(b) Here the subject is 'lack' which is singular. So use
'has' in place of 'have'.

(a) 'A number of' always takes plural verb with it. So,
replace 'has' by 'have'.

(b) 'Neither' is used for the choice between two
documents. So, use 'supports' in place of 'support'.

(b) Gerund 'smoking' will be used in place of 'to smoke'.

(d) No error.

(b) 'asked' in place of 'ask'.

(b) Use 'has' in place of 'have' as 'the call of the sea' is
singular.

(b) 'A number of is always followed by a plural verb
of after it. So use 'doubts' in place of 'doubt'.

(b) Use 'sent his' place of 'send their'.

'Each' is used for singular term. So, it will take

singular verb. Use 'was' in place of 'were'.

Use 'where he had gone' in place of 'where had he

gone'.

Use 'to make' in place of 'to making'.

Use 'prevented from accepting' in place of 'prevent

to accept'.

Since 'guarantee’ is singular. So, use verb 'is' before

it.

Use 'raise' in place of 'rose’'.

Since 'peculiarities' is plural. So, use 'distinguish' in

place of 'distinguishes'.
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(b)
(b)

(b) Remove 'to' after 'dare not'.

(a) Use 'used to' in place of 'use to' for past time.

(c) 'Schools' is plural. So, use verb 'have' in place of
'has'.

(b) 'Opportunity' is singular. So, use 'comes' in place of
'come’'.

(©)
(b)

'Lest' always takes 'should' after it. So, use 'should'
in place of 'will'.
Since need not' does not take 'to' after it. So, remove

'to'.
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(b) Since 'air pollution' is singular. So, use 'is' in place
of 'are'.

(b) Since 'concentration' is singular. So, use 'has' in place
of 'have'.

(b) Would better and had better always takes I form of
verb. So use 'go' in place of gone.

(b) Since 'two-thirds' is a singular unit. So, use 'was' in
place of 'were'.

(b) No error.

(b) 'Not one of his lectures' is referring to a single
lecture. So, use 'has' in place of 'have'.

(b) Use 'had they received' in place of 'they had received'
as inverted form of verb is required here.

(b) Since 'worth' always takes gerund after it. So, replace
'take' by 'taking'.

(b) Use 'shall be' in place of 'shall'.

(b) 'Made' has been used as a causative verb here and
ltol

(b) 1II from of 'hang' is 'hung' not 'hanged'.

(a) Use 'raising' in place of 'rising'.

(d) No error.

(b) Success and failure both are singular. So, use

'depends’ in place of 'depend'.

'The number of' always takes singular verb after it.

So, use 'is' in place of 'are'.

'Have' always takes III form of verb after it. So, use

'done’' after 'have'.

No error.

'Cleoptra' will take singular verb. So, use 'is' in place

of 'are'.

'Rejoice' and 'weep' both are opposite words. So,

use 'to' before 'weep' also.

Since 'soldiers' are plural. So use 'were' in place of

'was'.

'Wages' is referred to labourship. So, 'is' should be

replaced by 'are'.
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(d)
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44. (c) Use 'was sent' in place of 'sent' because of passive
voice.

45. (b) 'Drinking and driving' is used as a singular verb. So,
use 'is' in place of 'are'.

46. (b) 'Broadcasted' is wrong term. Correct II form of
broadcast is broadcast.
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(b)
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Use 'brokne' is place of 'broke'.

No error

Use 'my' in place of 'me', because here gerund
'attending' is governed by it.

'With a view to' always take gerund after it. Use
'helping' in place of 'help'.
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